THRFE RERARERBREF KR <EHD>

R05.08.10 IR7E

BIEEMHG P R DBMS No.DHKR * 5
E|E g | mm ML
323 25 g i; tl2|3|als5|6|7]8|9lt0]|11|12]13|14|15]16]17|18]19]|20|21|22]|23[24]25|26]27]28]29]30 45E | ops gg ”%?;‘ I;?g@
13 [11 1012 |6 |12 12 [12 |8 | 6 |12 |12 |12 |12 @ | 13 |1000%| 105 | 504 | 70 | 81
ni-oto|  wmE | f| 13 [11]12] 8 (107 12|12 12 [11 12| 7 |12 [12 2 | 13 |1000%| 106 | 450 | 64 | 7.7
26 2& 26 |100.0%| 10.6 477 67 7.9
13 [11 |10 |12 [12 |11 |8 [12 |7 |10 [10 |5 |12 |12 @ | 13 |1000%| 102 | 520 | 74 | 90
ni-azt | mas | R | 13 |1 e (10 10 11 11 12 12 [12 |8 [11 | 7 |12 9 | 13 |1000%| 102 | 473 | 67 | 83
26 £& 26 |100.0%| 10.2 501 70 8.6
11 |11 |11 |5 (10| 9 (10|10 (10 |9 [7 |8 L4 11 100.0%| 9.1 481 65 7.9
ng-o20| mEEE | S| 17 [8 (127 (9 [12]8 5 |5 |8 |6 |10[12]9 |7 6 (8 |8 9 | 17 |9a1%| 82 | 445 | 68 | 74
28 £& 28 96.4% | 8.6 459 67 1.6
12 [10 12 [10 [10 |11 [11 |5 |7 |7 [12] 4 |12 @ | 12 |917%| 93 | 4713 | 65 | 76
ng-o23| k=M | S| 14 [10]10 (11 (8 |7 |11 10 |8 | 7 |11 |12 12 |12 |12 2 | 14 |1000%| 101 | 433 | 66 | 75
26 £& 26 96.2% | 9.7 451 66 1.5
117 |89 |9 |10(11(12 9 |5 |11|9 L4 11 90.9% | 9.1 495 68 8.6
ne-oz| aEE S| 11 (796 (76|94 6|8 |12]1 9 | 11 |909%| 7.7 | 462 | 70 | 7.9
22 £& 22 90.9% | 8.4 478 69 8.3
15 [7 |8 [10 |12 |10 [12 |11 [12 [ 7 |8 {12 |11 |11 |8 [10 @ | 15 |1000%| 100 | 518 | 69 | 90
ne-o27 | mstedx | rae | 11 |9 |10 12 (10| 9 12| 8 12|11 [12 |11 2 11 |100.0%| 105 | 501 | 81 | 89
26 £& 26 |100.0%| 10.2 511 74 9.0
16 |6 |6 [12(12|5 |7 |6 |7 [10[12|6 |9 |9 |8 10|10 @ | 16 |938%| 84 | 496 | 65 | 82
02| 7eEE | ae| 10 |9 |5 (107 |8 5|4 [12]7 |6 ? 10 [80.0%| 73 | 439 | 61 | 77
26 24 26 88.5% | 8.0 474 64 8.0
8 |8 |7 (8107 |9 |6 |10 L4 8 100.0%| 8.1 485 63 8.1
oot @A || 14 |8 128 |9 128 |4 |7 |8 4|9 5|9 |8 2 14 | 786%| 80 | 474 | 65 | 84
22 24 22 86.4% | 8.0 478 64 8.3
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LB  ERE HE-319 H o & K &' R E & K &
ArEES EHRES Ei £EAH R4 Mk =03 B4 ik R
84.8 2[H 6224 |dimiE|  H29.08.25 wES ZEUD HY F
BE 53 A &

z: A 4 EEAR | 1A BoR nE 2R . BE A | EEh |02 | o | BT | s mo |RAOE e few; | JEA
) BER | mw | MY |32 | m2 | @ | B |mE || VS | BOS | spp | ER | LEY ) S0 I LEVI BRS |y | AR
1 |FEELKUVL R02.03.15 ? |[EE® BE |BaE R04.07.12 27.9 A-5 355 | 177 47 6.7 1.8 | 74.0 11 3 5 5 5 5 5 2 5 5
2 |(HhH R02.03.19 | & [EzH BE |REA R04.08.01 28.5 A-5 412 | 207 67 7.4 16 | 765 12 3 5 5 5 5 5 2 5 5
3 |f=L# R02.03.20 | & [E=EEE HER =03 R04.06.30 | 27.4 A-4 479 | 242 67 9.7 23 | 765 8 4 5 5 4 5 4 3 5 5
4 |t=o<A R02.03.20 | 2 |#fE1E HR |[&£%F R04.10.20 | 31.1 B-5 449 | 227 49 7.3 34 | 719 10 4 5 5 5 5 5 2 5 5
5 |&ALVEL R02.0322 | 2 [&% HERE [{tE708 R04.10.20 | 31.0 A-4 483 | 243 56 7.3 33 | 725 7 3 5 5 5 5 5 3 5 5
6 [&ER R02.03.23 d [HERE HERE |FXE R04.05.12 25.7 A-5 497 | 250 65 7.7 3.1 74.0 11 3 5 5 5 5 5 2 5 5
71 [5&HH R02.0323 | ¢ [BAEE 582 |TF R04.10.20 | 31.0 A-5 446 | 226 70 7.7 2.1 76.1 12 3 5 5 5 5 5 3 5 5
8 |[BE¥E R02.0327 | & |BE e |BERS R04.08.23 28.9 A-5 488 | 245 64 8.4 25 | 750 10 3 5 5 5 5 5 2 5 5
9 |E#H2351 R02.03.31 d |FEzE 3=} =053 R04.06.30 | 27.0 A-5 515 | 260 77 9.0 34 | 759 12 3 5 5 5 5 5 3 5 5
10 [#ERE R02.03.31 d |{EEEEE BE [BEE R04.08.04 28.2 A-4 507 | 252 51 8.1 30 | 725 6 3 4 4 4 4 4 3 5 5
11 |FRIER R02.0405 | & =0 5= |TF R04.08.25 28.7 A-5 514 | 256 79 8.7 28 | 76.6 12 3 5 5 5 5 5 3 5 5
12 [&E319 R02.04.05 | EEESE HRE |F1{EEH R04.07.12 27.2 A-5 528 | 263 78 9.0 2.7 | 76.6 12 3 5 5 5 5 5 3 5 5
13 [#EEF R02.0405 | & |EHE HRE |BRF R04.07.20 | 275 A-5 528 | 264 82 8.4 16 | 776 12 4 5 5 5 5 5 3 5 5
14 |5L397M2 R02.0408 | 2 |%% y Tl R04.08.19 | 28.4 A-5 496 | 248 73 85 22 | 764 12 3 5 5 5 5 5 2 5 5
15 |{A#HD129 R02.0409 | 2 |EZE EE |REA R04.09.01 28.8 A-5 449 | 225 67 8.3 38 | 746 12 3 5 5 5 5 5 3 5 5
16 [#Rth R02.0410 | & |EZEE HRE |FRB R04.09.01 28.8 A-5 398 [ 199 57 6.6 1.2 | 75.2 8 3 5 5 5 5 5 2 5 5
17 [f=<{HA R02.04.12 2 |fEXx AR [deZ R04.09.30 29.6 A-5 496 | 249 68 7.3 35 | 738 11 3 5 5 5 5 5 3 5 5
18 [#H407=K7=1= R02.04.20 R |EEEE HERE |FXE R04.10.20 30.0 A-5 479 | 239 81 7.9 33 | 76.3 12 3 5 5 5 5 5 3 5 5
19 |%8276 R02.04.26 | & |Fxk 2= [dtE7ms R04.08.23 | 279 A-4 547 | 270 55 9.0 24 | 737 6 3 4 4 4 5 4 3 5 5
20 |#EF R02.0427 | & |EE#H EE =053 R04.10.14 | 29.6 A-5 418 | 209 60 6.6 1.0 | 755 12 4 5 5 5 5 5 2 5 5
21 |RSRER R02.05.01 d |REA HERE |BRF R04.08.25 27.8 A-5 511 254 97 8.4 29 | 787 12 3 5 5 5 5 5 3 5 5
22 [PAZEN R02.0504 | 2 |FEBE BmE | TFXhE R04.10.20 | 29.6 A-4 455 | 228 50 6.2 25 | 72.1 7 3 4 4 4 4 4 2 5 5
23 |*FF01666 R02.05.09 | & |[EZFEHEE HRE |ZF= R04.08.22 275 A-5 602 | 302 72 8.8 40 | 735 12 4 5 5 5 5 5 2 5 5
24 |1={&H5H9505 R02.05.11 e |[REA HERE [EBzE R04.09.01 27.7 A-5 433 | 217 76 8.0 20 | 774 12 4 5 5 5 5 5 2 5 5
25 [BLAK R02.05.12 | % |&&A HRE |BEF R04.10.20 | 29.3 A-5 423 | 213 60 8.4 32 | 746 12 4 5 5 5 5 5 2 5 5
26 | AHZE3 R02.0524 | & |BE+ fE |[&F R04.10.20 | 28.9 A-5 492 | 248 | 75 69 | 21 | 757 | 12 4 5 5 5 5 5 2 5 5
" 5[] =1
" e I [ BT | 5% e =19 BERA | s
Rk sy | Aes |WEER) A | TG0 AAR NI p | wie | Bus | Bos | BR | BE | Lay | 20 | Cxy | Brs | kiR |
4.5 2 = | @ | BES = FR | R p =]
i 26 28.6 100.0% 14769 (2390 670 | 7.9 26 | 751 | 106 | 3.3 4.9 4.9 48 4.9 48 2.5 5.0 5.0
ZERE 1.3 =" | 525 | 260 | 121 0.9 0.8 1.8 2.1 0.5 0.3 0.3 04 0.3 04 0.5 0.0 0.0
3 13 28.0 100.0% | 5035 | 251.7 | 702 | 8.1 25 | 754 | 105 | 3.3 438 438 438 49 438 2.5 5.0 5.0
[ 13 29.3 100.0% | 450.4 | 226.2 | 639 | 7.7 27 | 748 | 106 | 33 49 49 48 49 48 2.5 5.0 5.0




25 EaE HR-321 H o & K &' € R E 4 Bk &
ATEER BB  Ei $EAH R4 Mk B B E B4 mif B (Ei)
83.3 [ E& 6225 [demiE]  H29.09.23 | R 5 e ALEHL VDot #HC
3 . @ BR @ BE #* A "
& | *F EEAR | HA| - BOR sg | BPER BEE | Ph | ml | B0 [ [l 2P BT ZE [ evs [ sos | 00 [P Lay | &6 [ 0 | BFs [ o0 [ |
S R02.03.11 J [Ba% EEET R04.08.25 | 295 A-5 554 | 279 88 103 | 26 | 784 11 4 5 5 5 5 5 2 5 5
2 | TAYWS R02.03.23 2 |BEX 2= |REA R04.08.01 28.3 A-5 512 | 255 82 7.6 2.1 76.9 11 3 5 5 5 5 5 2 5 5
3 |LAE=h211FA R02.03.23 2 |BEX S5 [dtE7m8 R04.08.25 29.1 A-4 519 | 258 78 8.4 37 | 754 6 4 4 4 4 4 4 3 5 5
S R02.03.27 FEST = |[EX R04.06.08 26.4 A-5 517 | 256 57 8.3 22 | 740 10 3 5 5 5 5 5 3 5 5
5 |;c#&E35M8 R02.0328 | & |B& e |EE R04.09.01 29.2 A-5 464 | 230 78 79 20 | 773 12 3 5 5 5 5 5 3 5 5
6 |&£>53618 R02.0328 | 2 [{EEZRE BRE |$% R04.10.20 | 30.8 A-5 434 | 218 57 8.4 29 | 744 10 4 5 5 5 5 5 3 5 5
7 |ALT= R02.03.29 2 |EAR HR |[#EF R04.10.20 30.8 A-5 552 | 276 74 8.8 32 | 75.1 10 3 5 5 5 5 5 3 5 5
8 [RBA R02.03.31 FEST = |'RF R04.07.20 27.7 A-5 517 | 260 63 9.6 30 | 748 12 4 5 5 5 5 5 3 5 5
9 |EEES R02.04.05 @ |dFR HER |[E1{EE R04.08.25 28.7 A-5 513 | 258 | 105 8.8 29 | 799 11 4 5 5 5 5 5 2 5 5
10 |0AC R02.0405 | @ |E=ZEEA = |REERS) R04.10.20 | 305 A-5 384 | 192 51 7.1 22 | 740 11 4 5 5 5 5 5 3 5 5
11 |FEHE R02.0407 | & |AER(ERE) BR |FEXE R04.05.12 25.2 A-5 456 | 229 58 8.0 24 | 744 9 3 5 5 5 5 5 2 5 5
12 |$5#5205 R02.0408 | 2 |[EZERE HE |FxB R04.07.19 274 A-5 474 | 236 57 8.1 39 | 728 11 3 5 5 5 5 5 3 5 5
13 [FH9 R02.0408 | 2 |E=ZEE HFE [BRFE R04.10.20 | 304 A-5 404 | 200 74 8.0 20 | 776 12 3 5 5 5 5 5 3 5 5
FESE R02.0409 | & |&EA HFE [BRFE R04.08.25 28.6 A-5 560 | 278 97 9.3 36 | 78.1 12 4 5 5 5 5 5 2 5 5
15 [ZtE R02.04.09 | & |BEEA#k HFE [BRFE R04.09.07 29.0 A-4 475 | 238 60 8.7 33 | 741 7 4 4 4 4 4 4 3 5 5
16 [EEBHE10 R02.04.10 | & |EE4H BR |BAX R04.09.08 29.0 A-5 676 | 339 89 112 | 25 | 777 10 3 5 5 5 5 5 3 5 5
17 [3EiI5206 R02.04.14 | & |&REBA HFE [BRFE R04.09.14 29.0 A-5 443 | 221 64 8.1 28 | 75.1 10 4 5 5 5 5 5 3 5 5
18 |#2311 R02.04.14 | & |&E%S HE |di= R04.08.25 284 A-4 601 299 63 9.0 28 | 736 5 4 4 4 4 4 4 2 5 5
19 [PYrpY R02.04.18 2 =073 82 |KE R04.10.20 30.1 A-5 603 | 306 73 9.8 29 | 75.2 12 3 5 5 5 5 5 3 5 5
20 |HAL R02.04.25 P EETE HERE |BEEX R04.10.20 29.9 A-5 547 | 276 79 10.1 49 751 12 3 5 5 5 5 5 3 5 5
21 |5ALUAEHL R02.05.02 | 2 |@&iRi% 2 |BFX R04.10.20 | 29.6 A-5 450 | 225 69 8.0 29 | 755 8 3 5 5 5 5 5 3 5 5
22 |1EEXR R02.05.05 d |EZE BE [fEX% R04.10.20 295 A-5 548 | 279 71 8.2 35 | 740 12 3 5 5 5 5 5 2 5 5
23 [Y&5 R02.05.06 2 [EEXKER 52 |&F R04.10.20 29.5 A-5 336 | 169 50 6.3 1.8 | 743 11 4 5 5 5 5 5 2 5 5
24 |3HL R02.0510 | 2 |BE&%E 55 |FEEE R04.10.14 | 292 A-4 379 | 188 50 7.6 3.1 735 7 4 4 4 4 5 4 3 5 5
27 |&hLIFH#5E8 R02.05.16 L |EES HFR |[E558% R04.10.20 29.2 A-5 550 | 276 76 9.3 36 | 754 12 4 5 5 5 5 5 3 5 5
28 |$23 R02.05.20 | & [BETi%(E3 e T R04.09.01 | 27.4 A-5 549 | 276 | 64 93 | 20 | 753 | 12 4 5 5 5 5 5 2 5 5
" 5[] BERA
. ¥ ar| oo BT | &8 e =0 i 2
AR my | A |WEER| B T A-AR NI | e | s | gus | Bos | AR | BE | Lxy | =0 |Cxy | BFs | R | B
= - ik ! ik
Ey 26 28.9 100.0% 12007 [ 250.7 | 703 | 8.6 29 | 755 | 102 | 35 48 48 48 49 48 2.7 5.0 5.0
ZERE 1.3 S 17776 | 394 | 144 | 14 0.7 1.8 2.0 0.5 0.4 0.4 0.4 0.3 0.4 0.5 0.0 0.0
3 13 28.3 100.0% | 528.7 | 2648 | 736 | 9.0 27 | 759 ] 102 | 36 48 48 48 48 48 25 5.0 5.0
2 13 29.6 100.0% | 472.6 | 2365 | 66.9 | 8.3 30 | 750 | 102 | 35 48 48 48 49 48 2.8 5.0 5.0




%5 FxEs H&-320 H o & K & € R E 4 Bk &
ATEER BB  Ei $EAH R4 Mk i B4 mif TRA
83.3 B 15484 |dtimE| H29.09.18 ek Loy A, EI
s s Ba 53 & 53 & = |
IE | AN 7N N T e ._ N
E3 A £FAE | 1A BOR 455 BAIHER B&EA B | e | B ERREAS) A0 | BT | BB | pys | gog | AD Rk | sy | =0 | Cay | ers JEm sonse
R & B2 | £ | @R | BT |BHE|&£%EE HiR = =4 FRE 4y
EIESS R020514 | & |H&85M3 GRS R04.09.13 | 280 A-b 549 | 276 | 80 | 102 | 29 | 771 | 11 7 5 5 5 5 5 3 5 5
2 |OiHs R02.05.14 | 2 [REEEES HE |B#&85Mm3 R04.11.10 | 29.9 A-5 438 | 218 70 78 24 | 76.1 8 4 5 5 5 5 5 3 5 5
4 [BHEL R02.05.14 | & [EzH BE [BEE R04.10.20 | 29.2 A-5 440 | 222 82 8.2 16 | 786 12 4 5 5 5 5 5 3 5 5
5 [®FhA R02.05.14 | 2 |&Ek = |[ltE7/m8 R04.11.24 | 304 A-4 438 | 219 63 6.6 29 | 739 7 3 4 4 4 5 4 3 5 5
6 |BHHZ R02.05.17 | @ |[EE#Hk 3 Ak R04.10.20 | 29.1 A-5 489 | 246 70 7.7 24 | 754 9 4 5 5 5 5 5 2 5 5
7 |EBIE R02.05.18 | & |[EZFERE HRE |Z&A R04.09.13 27.9 A-5 533 | 268 75 8.7 23 | 76.2 11 4 5 5 5 5 5 3 5 5
8 |&ZE=XEF R02.05.18 | & |[B#IE EE |=HE R04.09.28 28.4 A-4 493 | 246 58 75 30 | 73.1 5 4 4 4 4 4 4 2 5 5
9 |F2zkE R02.05.21 @ |EBZzE EE |BEFE R04.09.28 28.3 A-5 443 | 223 58 7.4 25 | 741 10 4 5 5 5 5 5 2 5 5
10 |%5#68 R02.0528 | 2 |FHEB 552 |RERERS) R04.10.05 | 28.3 A-5 394 | 197 63 7.2 28 | 75.0 12 3 5 5 5 5 5 2 5 5
11 |&|EE R02.0529 | & |[MFEIE S5 |[BREL R04.10.20 | 28.8 A-5 452 | 228 54 8.7 20 | 747 9 4 5 5 5 5 5 2 5 5
12 |21E£E611 R02.0602 | ¢ |EERE HRE |ZR&A R04.08.04 | 26.1 A-4 419 | 210 72 6.4 2.1 75.9 8 5 4 4 5 5 5 2 5 5
13 [H&HH R02.0603 | @ [#FEE B (BEE R04.12.13 304 A-3 461 231 82 8.1 37 | 764 5 5 3 3 3 3 3 3 5 5
14 | EEH R02.0607 | & |fEZE EE |fEX R04.06.30 | 24.8 A-5 486 | 245 69 8.2 24 | 756 10 4 5 5 5 5 5 3 5 5
15 [EEXEHE R02.0607 | & |BRE = |[BE85m3 R04.10.31 28.8 A-5 420 | 210 62 7.4 2.1 75.3 10 3 5 5 5 5 5 2 5 5
16 [EWRE R02.06.09 J [BHE85M3 HERE |HLFE R04.10.13 28.2 A-5 466 | 234 54 7.6 1.9 | 740 10 3 5 5 5 5 5 3 5 5
17 |H#&HLNE20 R02.06.09 | 2 |&41E HR [FxEB R04.10.20 | 28.4 A-4 487 | 244 59 77 41 | 725 5 4 4 4 4 4 4 2 5 5
18 |BRE R02.06.10 | & |EEQF HERE |BREF R04.11.29 29.7 A-5 513 | 252 79 8.1 17 | 713 9 4 5 5 5 5 5 2 5 5
19 |[pDHAZ R02.06.13 | 2 |Fxk 25 |[RE165M9 R04.11.30 | 29.6 A-5 351 | 176 46 5.7 25 | 726 8 5 5 5 5 5 5 2 5 5
20 [LhEiH R02.06.15 | 2 |&RER HERE |Fxi R04.12.15 | 30.0 A-4 405 | 205 62 8.3 24 | 757 6 4 4 4 4 4 4 3 5 5
21 |BHDYRDY R02.06.17 | 2 [211HEE = |RER R04.11.24 | 293 A-5 453 | 228 62 7.4 25 | 745 10 4 5 5 5 5 5 2 5 5
22 |H#HEEDZ R02.06.19 | 2 |2tk (EI&) = |RFE R04.10.20 | 28.1 A-5 483 | 242 75 8.4 23 | 76.7 12 4 5 5 5 5 5 2 5 5
23 |[EHLLS R02.06.28 | @ |Ei#H e |EEEE R04.10.20 | 27.8 A-5 516 | 258 84 7.3 1.9 | 771 9 3 5 5 5 5 5 2 5 5
24 | =X R02.07.01 | EEESE HERE [EBzE R04.07.20 | 24.6 A-4 539 | 271 75 8.0 29 | 75.1 7 3 5 5 5 5 5 3 5 5
25 |lEH R02.07.06 | @ [EAHk HERE |BEREF R04.12.13 29.3 A-4 383 | 191 61 6.8 2.1 75.2 7 4 4 4 4 5 4 2 5 5
26 |REBE2 R02.07.12 | & |[ME#HS E |&F R04.12.19 29.3 A-4 392 | 197 50 5.3 1.8 | 729 8 3 4 4 4 4 4 2 5 5
27 |HGAHLBY R02.07.14 CE 5 = |REA R04.11.04 27.7 A-4 401 201 59 7.0 24 | 746 6 4 4 4 4 5 4 2 5 5
28 |HB&HRY R02.07.28 | 2 [E1fEEH BE |A585M3 R04.11.30 | 28.1 A-5 481 | 243 73 75 17 | 763 8 4 5 5 5 5 5 2 5 5
29 |{OEHhE4 R02.0802 | & |&REA HEFE | TFEi R05.03.31 31.9 A-5 517 | 261 65 7.4 28 | 7338 8 4 5 5 5 5 5 3 5 5
" 5[] =1
= e I [ BT | 5% e =19 BERE | s
Rk sy | Aes |WEER) A | TG0 AAR NI pn | wie | Bus | Bos | BR | BE | Lay | 20 | Cxy | Brs | kiR |
4 5$ 2 = ﬁ*ﬂ J;é = JIE/R IR 1= ﬁ
B 28 28.6 96.4% | 498.6 [ 230.1] 665 | 7.6 24 | 752 | 86 39 46 46 47 48 47 2.4 5.0 5.0
ZERE 1.6 o 514 | 258 | 102 | 1.0 0.6 15 2.1 0.6 0.6 0.6 0.5 0.5 0.5 0.5 0.0 0.0
J 11 27.9 100.0% | 4805 | 2409 | 649 | 7.9 23 | 75.0 | 9.1 36 438 438 438 438 438 2.5 5.0 5.0
2 17 29.0 94.1% | 4445|2231 ] 675 | 74 25 | 753 | 82 40 45 45 46 48 46 2.4 5.0 5.0




BAE_ L=m HR-323 BB & K &R E R & & ik &

ATEER BB  Ei $EAH R4 Mk EEE B4 mif B B E
| 81.3 | 2 15485 |dti#@m&E| H29.10.14 | EREE WNDH 5A290M21 L E VLA 13
s a% B=H 53 & 53 & 5

I=E Y S 7N N W . .— S E
= A & £EAR | 5 BOX e BHAR BEH B | g | B ERR|AAS) A0 | BT | BB | gy | gos | AR R | Lzy | = | Gy | srs JEw: sonse
B#s B2 | £ | @R | BT |BHE|&£%EE HiR = =4 FRE 4y

Y R020514 | © |[FEbk e |BIEE R04.10.20 | 29.2 A-5 537 | 270 58 9.1 28 | 738 10 4 5 5 5 5 5 3 5 5
2 |[IE<»,>o2019 R02.05.16 | 2 |BzE EE | TFXhE R04.11.16 | 30.1 A-5 442 | 223 65 77 1.1 76.4 10 4 5 5 5 5 5 2 5 5
3 |#¥2m30 R02.05.17 | & |BEZE 3=} =057 R04.09.01 275 A-5 410 | 205 61 75 30 | 745 10 4 5 5 5 5 5 2 5 5
4 |E=FY R02.05.18 | £ =03 5= |TF R04.12.08 30.7 A-5 438 | 221 77 7.4 26 | 765 11 4 5 5 5 5 5 3 5 5
5 |dehiEsE R02.05.18 | & |&kkk EA L 2 R04.10.20 | 29.1 A-5 437 | 215 66 8.3 19 | 765 12 4 5 5 5 5 5 2 5 5
6 |F=EH R02.05.19 | & |EEH EE | TFXhE R04.09.28 28.4 A-5 531 265 81 9.2 16 | 780 10 4 5 5 5 5 5 2 5 5
7 |[FFEZ R02.0523 | 2 |BzE BE | TFXhE R04.09.30 | 28.3 A-5 361 183 43 6.5 26 | 724 8 4 5 5 5 5 5 2 5 5
8 [IE5L&LS R020525 | ¢ [&EB& 55 |REA R04.12.13 30.7 A-4 407 | 203 64 6.3 27 | 744 7 5 4 4 4 4 4 3 5 5
I EX R02.05.29 | % |BsE#+k5 5= |EYE R04.10.20 | 28.8 A-5 399 | 201 59 7.0 24 | 746 11 3 5 5 5 5 5 2 5 5
10 [BFE41 R02.05.31 Jd |EZEEE a2 |£F R04.08.04 | 26.2 A-5 448 | 223 58 75 14 | 7541 10 4 5 5 5 5 5 2 5 5
11 |E#706 R02.06.01 ke &% = |FEE R04.08.04 | 26.1 A-5 470 | 235 64 7.3 20 | 749 11 4 5 5 5 5 5 2 5 5
12 [f=h*F1617 R02.06.01 2 |&1E165M5 HERE |HURER R04.12.08 30.3 A-5 378 [ 189 59 6.2 14 [ 75.2 10 4 5 5 5 5 5 3 5 5
13 [~EhE612 R02.06.02 2 |BEFE e |[TFEE R04.08.04 26.1 A-5 436 | 217 69 7.9 23 | 76.2 8 4 5 5 5 5 5 2 5 5
14 |ZHY R02.0603 | 2 |[BEE 2= [dtE7ms R04.11.24 | 29.7 A-4 340 | 171 51 6.6 34 | 73.1 7 3 4 4 4 5 4 2 5 5
15 |BD&E: R02.06.03 | @ |&Ek = |[HEER R04.11.30 | 29.9 A-5 513 | 259 68 7.3 22 | 747 11 4 5 5 5 5 5 3 5 5
16 |LAT=128I17TA | R02.0603 | 2 |FEERE EE & R04.10.20 | 28.6 A-5 562 | 283 73 9.8 25 | 76.1 12 4 5 5 5 5 5 2 5 5
17 KIZx R02.0604 | 2 [BAEFE = |[EX R04.11.30 | 29.9 A-5 339 | 170 60 6.1 17 | 755 12 4 5 5 5 5 5 2 5 5
18 |EBE R02.06.05 | & |MsEHi5 22 |[REA R04.10.20 | 285 A-5 483 | 243 79 8.6 22 | 774 11 4 5 5 5 5 5 3 5 5
19 |[£570 R02.06.06 ? |BE#5 = | F2E R04.11.09 29.1 A-5 478 | 240 | 102 8.9 28 | 80.1 12 3 5 5 5 5 5 2 5 5
20 [T R02.06.08 | & |FEk = [dtE7ms R04.10.20 | 28.4 A-4 401 | 202 56 6.2 1.8 | 742 5 4 4 4 4 4 4 2 5 5
21 |L&3Z R02.06.15 | 2 |[fEEXRE EE |REA R04.11.24 | 293 A-5 434 | 218 77 75 18 | 774 12 4 5 5 5 5 5 2 5 5
22 [fERS R02.06.18 | & |FE1{EH BE | TFXhE R04.11.08 | 28.7 A-4 514 | 258 57 76 1.8 | 738 7 4 4 4 4 4 4 3 5 5
23 |$iBn R02.06.20 | & |FREE 2= |RF R04.10.20 | 28.0 A-4 468 | 234 53 6.8 23 | 729 7 4 4 4 4 4 4 3 5 5
24 |dbE=EH R02.0623 | & 03 = |fEk(Eg) R04.10.20 | 27.9 A-5 514 | 256 58 8.2 29 | 734 12 3 5 5 5 5 5 3 5 5
25 [dt=h R02.06.27 F =0 2 |[REA R04.11.16 28.7 A-3 497 | 250 57 7.2 14 | 7441 4 4 4 4 3 4 3 2 5 5
26 [TTE1E R02.07.08 | & |{EERE R _|REA RO4.11.17 | 284 A-5 497 | 249 | 93 7.3 13 | 790 [ 12 4 5 5 5 5 5 2 5 5
5[0 i

" S ar| s BT | &8 e =19 BERA | s

Rk my | Ag |WEER| B T I0-AR NI | e | B | pus | Bos | AR | BE | Lxy | =0 |Cxy | BFs | R | B

4'5$ ==} = ﬁ*ﬂ J;é = JIE/R 4 B ﬁ

i 26 28.7 96.0% | 4913 [2263] 657 [ 7.5 22 | 754 | 9.7 39 48 48 47 48 47 2.3 5.0 5.0

ZERE 1.3 o 60.9 | 305 [ 13.1 1.0 0.6 1.9 2.3 04 04 04 0.5 04 0.5 0.5 0.0 0.0

3 12 28.0 91.7% | 4725] 236.3| 653 | 76 20 [ 753 | 93 3.9 47 47 46 47 46 2.3 5.0 5.0

9 14 29.3 100.0% | 433.1 | 217.7 | 66.1 75 23 | 755 | 10.1 3.9 49 49 49 49 49 2.4 5.0 5.0




ZE  aET HE-326 H o & K & R E 4 Bk &
ATEER BB  Ei $EAH R4 Mk T B4 mif B B E
81.4 £ 15537 |dtimE| H30.04.07 | JtER T55<3 HHLM D24 L #HC

s s Ba 53 & 53 W_ﬁ = . .
1= Y AN 7N AN s - v— Aa) = =]
gs| *F £FAR M) BOR sg | BFEX T 8 | gy | BAERRIAAS| 000 | BT BB | gys | ogos | BD | Teir | Lay | &= | LEy | ses | ke
R & B2 | £ | @R | BT |BHE|&£%EE HiR = =4 FRE 4

1 [#&RE326 R02.09.13 | & [BEF = |ILE/DS8 R05.01.25 | 28.4 A-4 497 | 250 73 8.7 23 | 764 7 4 5 5 5 5 5 2 5 5
2 |[fEAMIIE R02.09.19 | & |&&EA HR &% R05.02.21 29.1 A-5 525 | 262 77 8.3 1.8 | 76.8 8 4 5 5 5 5 5 2 5 5
3 |HE R02.09.21 2 =03 5= |TF R05.02.14 | 28.8 A-4 494 | 246 66 7.7 30 | 743 7 5 4 4 4 4 4 3 5 5
4 |&o5 R02.09.22 | 2 |[EEHk EE |BEFE R05.02.20 | 29.0 A-5 389 | 194 61 6.7 19 | 753 9 4 5 5 5 5 5 2 5 5
5 |LAT=r231FA | R02.09.23 | 2 |BREE 55 |REA R05.02.21 29.0 A-4 486 | 245 65 8.2 22 | 75.2 6 3 4 4 4 4 4 2 5 5
6 |EF R02.09.25 | & |FExkk = | K#h7 R05.02.02 28.3 A-5 517 | 259 73 8.0 1.9 | 76.1 9 4 5 5 5 5 5 3 5 5
7 |FIEE R02.09.30 | & |¥EHE HERE |BRF R05.02.02 | 28.1 A-5 514 | 260 75 9.0 27 | 763 9 3 5 5 5 5 5 3 5 5
8 |#%5247 R02.1004 | & &% a2 |£F R05.02.02 28.0 A-5 520 | 262 60 8.3 24 | 741 10 3 5 5 5 5 5 3 5 5
9 |[t#r R02.10.10 | & |EzZRE HERE |F2F%KE R05.02.02 27.8 A-5 493 | 252 80 9.7 2.1 78.1 11 3 5 5 5 5 5 2 5 5
10 |E&HHhRpE R02.10.12 | 2 |&= a2 |HEE R05.03.30 | 29.6 A-4 510 | 255 80 7.8 25 | 764 7 4 4 4 4 4 4 3 5 5
11 [#TEEHR R02.10.19 | & =0 = |[ltE7m8 R05.03.08 28.6 A-5 521 262 66 9.2 39 | 741 12 3 5 5 5 5 5 3 5 5
12 [4£35912 R02.10.19 @ | SE | BeRER R05.02.17 28.0 A-5 462 | 232 62 8.4 1.8 | 75.7 9 3 5 5 5 5 5 2 5 5
13 [0AEH#L R02.10.21 e |BBE E |®iFE R05.04.04 | 294 A-4 438 | 219 68 7.6 27 | 754 6 4 4 4 4 4 4 3 5 5
14 | RHIE R02.10.22 | & |&Ek% = |XRER R05.02.21 28.0 A-3 487 | 245 62 8.3 2.1 75.0 5 4 3 3 3 4 3 3 5 5
15 |[m2E#AL R02.10.22 | % |BsE#k5 e |EZE R05.05.11 30.6 A-5 477 | 241 82 8.7 33 | 76.9 9 3 5 5 5 5 5 3 5 5
16 [IFPEHL R02.10.25 | % |BsE#+k5 = |[EEE R05.03.16 28.7 A-3 525 | 263 73 8.3 1.9 | 76.2 4 3 4 4 4 4 4 2 5 5
17 |ShEHLEE R02.10.27 | 2 |[EEAER = |[REA R05.05.18 30.7 A-4 425 | 213 59 7.0 14 | 75.2 6 4 4 4 4 4 4 3 5 5
18 |Z5#20 R02.11.05 | 2 |EE#MH BE |ESRE R05.06.01 30.9 A-5 420 | 211 71 7.9 15 | 773 8 4 5 5 5 5 5 3 5 5
19 |FIEEF R02.1108 | & 03 = |k (Eg) R05.03.03 27.8 A-5 488 | 243 65 9.2 16 | 765 11 4 5 5 5 5 5 3 5 5
20 |59 R02.11.09 e [EzHE BE |FE1{EE R05.04.18 29.3 A-5 469 | 235 61 9.8 29 | 754 12 3 5 5 5 5 5 2 5 5
21 |EHED R02.11.10 | 2 |EE#H EE =053 R05.02.21 27.4 A-5 445 | 221 85 76 16 | 786 11 3 5 5 5 5 5 2 5 5
22 |#TZE771 R02.11.10 | & |HFE I E AL R05.02.02 | 26.8 A-5 422 | 211 56 79 | 13 | 755 9 4 5 5 5 5 5 3 5 5
" 510 =1

" e P [ BT | 58 " =19 BERA | s

Rk sy | A |PEER|BA | T AR NI | e | wse | gus | Bos | AR | BX | Lxy | =0 |Cey | BFs | R | B

45$ ==} = ﬁ*ﬂ J;é = JIL'./R 4 B ﬁ

i 99 28.7 90.9% | 4784 [240.0 | 69.1 8.3 22 | 759 | 84 3.6 46 46 46 4.7 46 2.6 5.0 5.0

ZERE 1.1 o 398 | 204 | 83 0.8 0.7 1.2 2.2 0.6 0.6 0.6 0.6 0.5 0.6 0.5 0.0 0.0

3 11 28.1 90.9% | 495.1 | 248.9 | 68.1 8.6 22 | 759 | 91 35 438 438 438 49 438 26 5.0 5.0

2 11 29.4 90.9% | 461.6 | 231.2 | 70.1 7.9 23 | 760 | 77 3.6 45 45 45 45 45 2.5 5.0 5.0




B e HE-327 BB ®R KB E R E 4 BB

ATEER BB  Ei $EAH R4 Mk B B E B4 mif . HKRE
[ 84.7 [ 25 6266 [dtim&] H30.04.10 | 85 e 1A U

= B% i E 2 x P%E & =% i
| AN 7N AN s -+ o= AO) = =]

5| ** £FAR M) BOR sg | BFEX T 8 | gy | BAERRIAAS| 000 | BT BB | gys | ogos | BD | Teir | Lay | &= | LEy | ses | ke
R & B2 | £ | @R | BT |BHE|&£%EE HiR = =4 FRE 4

EETE R020828 | & |B%esn Hn |&11EE R04.11.02 26.2 A-4 411 207 57 7.5 23 | 746 7 4 4 4 4 4 4 2 5 5
2 |3EiI5262 R02.09.02 | & &% fa  |EF R05.02.15 | 295 A-5 542 | 270 62 75 15 | 744 8 4 5 5 5 5 5 3 5 5
3 |EMIEm R02.09.11 d |£KER3 S5 |REA R04.1220 | 273 A-5 552 | 2717 71 8.7 33 | 746 10 3 5 5 5 5 5 3 5 5
4 |phoH R02.09.15 | Q [ZEzZE HR |&F R05.01.17 | 28.1 A-5 442 | 222 74 8.3 37 | 757 9 3 5 5 5 5 5 3 5 5
5 |18%k R02.09.15 | & |EE#H 3=} =053 R05.03.02 29.5 A-5 400 | 200 45 75 1.8 | 737 12 4 5 5 5 5 5 3 5 5
6 |HLEDA R02.09.17 | & [BzH BE |TR1E R04.12.20 | 27.1 A-5 508 | 255 76 8.7 22 | 76.8 10 3 5 5 5 5 5 2 5 5
7 |RFEEK R02.09.20 | & [dtFEZXR HERE |BRF R04.12.20 | 27.0 A-5 627 | 314 84 107 | 37 | 763 10 3 5 5 5 5 5 3 5 5
8 |BEk R02.09.21 I |REA HERE |Fxi& R05.02.02 28.4 A-5 511 260 81 10.2 16 | 788 12 3 5 5 5 5 5 3 5 5
9 [RE R02.09.23 | & |BREE a2 |T2 R05.03.02 29.3 A-5 449 | 224 59 8.3 3.1 74.2 11 3 5 5 5 5 5 3 5 5
10 |AALA2425 R02.09.24 | 2 |EZE 3=} &% R05.02.02 | 283 A-5 557 | 283 | 117 | 95 23 | 818 | 12 3 5 5 5 5 5 3 5 5
11 |ELX2 R02.09.24 L |EEREE HR [EBZE R05.02.02 28.3 A-5 497 | 250 70 9.7 35 | 75.6 10 3 5 5 5 5 5 2 5 5
12 LW R02.09.24 | 2 [ME#HS S5 |EXERE R05.02.02 28.3 A-5 485 | 244 72 9.0 24 | 765 9 4 5 5 5 5 5 3 5 5
13 |BEfEt R02.09.27 d | EE# BE |TEE R05.02.02 28.2 A-5 669 | 338 | 102 | 11.0 | 27 | 79.1 12 3 5 5 5 5 5 3 5 5
14 Bkt R02.09.27 | & [R#E(ERSE) BE |&RAE R05.02.14 | 28.6 A-4 416 | 208 55 7.3 1.6 | 748 7 4 4 4 4 5 4 2 5 5
15 |FLV\3320 R02.09.30 | 2 |FEi#oHE = |REA R05.02.02 | 28.1 A-5 502 | 256 88 8.8 30 | 776 12 3 5 5 5 5 5 2 5 5
16 |[MDEL763 R02.09.30 | 2 [FHEE S5 |[dtE7m8 R05.01.12 | 274 A-5 534 | 267 60 8.8 36 | 732 8 3 5 5 5 5 5 3 5 5
17 |EBHk R02.1003 | & 03 = |BREE R05.02.21 28.7 A-4 569 | 286 71 9.3 23 | 75.6 8 4 4 4 4 5 4 2 5 5
18 [/982 R02.10.03 | & [ItFR HR [FxEB R05.02.21 28.7 A-5 540 | 269 77 9.8 33 | 763 12 3 5 5 5 5 5 2 5 5
19 [BFE50 R02.10.04 | & |EZEBES = |fezE R05.01.12 27.3 A-5 455 | 229 73 8.0 14 [ 773 11 3 5 5 5 5 5 3 5 5
20 (S8 R02.10.06 | & |BsE#5 25 |ZRE R05.02.27 | 28.8 A-5 546 | 273 57 107 | 3.1 74.4 11 3 5 5 5 5 5 3 5 5
21 |&527 R02.1007 | & [BA&AEA2 22 |[REA R05.02.10 | 28.2 A-5 522 | 261 86 9.2 33 | 773 12 3 5 5 5 5 5 3 5 5
22 |k R02.10.10 | & =0 = |[B/E85Mm3 R05.02.21 28.4 A-5 515 | 255 76 8.7 14 | 715 9 3 5 5 5 5 5 3 5 5
23 |WAC R02.10.10 | 2 |FXBE BE |TXBE R05.04.18 | 30.3 A-5 498 | 251 82 9.3 15 | 787 11 3 5 5 5 5 5 3 5 5
24 |&K5 R02.10.28 | 2 [EFZE EE |BEFE R05.03.30 | 29.0 A-5 480 | 241 81 8.2 27 | 770 12 4 5 5 5 5 5 2 5 5
25 [Bc R02.11.02 | & |EHEZE mE LT R05.02.02 | 27.0 A-5 571 | 287 64 | 101 | 30 | 746 10 3 5 5 5 5 5 3 5 5
26 _|mk2 R02.12.01 2 |&REA HE _|FXBE R05.06.29 | 30.9 A-5 482 | 240 85 8.6 25 [ 780 | 11 3 5 5 5 5 5 3 5 5
5[0 &R

= S I [ BT | 5% e =19 BERE | s

Rk my | Ag |WEER| B T I0-AR NI | e | B | pus | Bos | AR | BE | Lxy | =0 |Cxy | BFs | R | B

45$ ==} = ﬁ*ﬂ J;é = JIL'./R 4 B ﬁ

i 26 28.3 100.0% |2108[256.4 [ 74.0 [ 9.0 26 | 763 | 102 | 3.3 4.9 49 49 5.0 49 2.7 5.0 5.0

ZERE 1.1 “" 1629 | 319 | 153 | 10 0.8 2.0 1.7 0.5 0.3 0.3 0.3 0.2 0.3 0.5 0.0 0.0

3 15 28.2 100.0% | 518.2] 259.8| 68.9 | 9.0 24 | 757 ] 100 | 33 438 438 438 49 48 27 5.0 5.0

9 11 28.5 100.0% | 500.6 | 251.8 | 81.0 | 8.9 28 | 771 ] 105 | 3.2 5.0 5.0 5.0 5.0 5.0 26 5.0 5.0




BE  EEx HR-324 H o & K ®r R B 4 Bk &
ATEER BB  Ei $EAH R4 Mk F11EE B4 mif EEE
83.6 E 15536 |dtmE]  H29.12.21 | E11EHk SHA LIF#& HED

s s Ba 53 & 53 &

1= Y AN 7~ AN s - v— N
S x £FEAE | 5 Box E e BER B o | BEERAEAS 00 BT PE | ews | Bes | B mﬁmﬁ:@ LEY | & fgf) Brs | JEM :'EERE
R & B2 | £ | @R | BT |BHE|&£%EE HiR = =4 FRE 4y
1 |fEE& R02.11.19 d |EEES HR a% R05.04.04 28.5 A-4 489 | 244 64 8.4 1.7 | 75.7 6 4 4 4 4 4 4 2 5 5
3 |[FHE58 R02.11.24 | & =03 = |TEEE R05.02.02 26.3 A-5 445 | 225 62 7.4 26 | 745 9 4 5 5 5 5 5 3 5 5
4 |XZEO0645RF R02.11.26 d |fERHE HERE |BRF R05.04.19 28.8 A-4 516 | 261 61 7.9 29 | 735 6 4 4 4 4 4 4 2 5 5
5 |[IZEd30HEE| R21127 | 2 |BETE S5 |dtFR R05.05.18 29.7 A-4 385 | 194 46 75 30 | 729 5 4 4 4 4 4 4 3 5 5
6 |ETE R02.11.29 | & |MsE#Hi5 S5 |REA R05.04.04 | 28.2 A-5 468 | 234 91 8.5 1.9 | 794 12 4 5 5 5 5 5 3 5 5
7 |FEE R02.11.29 | & |EE#H 3=} =053 R05.04.24 | 28.8 A-5 446 | 222 74 7.9 12 | 717 12 4 5 5 5 5 5 2 5 5
8 [lTHhoH R02.12.01 ? [EZFBE S5 |BEFE R05.05.23 | 29.7 A-5 407 | 203 63 7.1 19 | 756 10 4 5 5 5 5 5 3 5 5
9 = R02.1202 | & |[ME#HS S5 |REA R05.04.25 28.8 A-3 541 271 65 8.5 1.7 | 75.2 5 4 4 4 3 4 3 2 5 5
10 |#E2Mm64 R02.1204 | & |#8%1E HRE |B&E R05.03.16 | 27.4 A-4 506 | 254 59 9.1 20 | 750 7 4 4 4 4 5 4 2 5 5
11 [E= R02.12.10 | & [BE#HS 552 |RERERS) R05.04.06 27.9 A-4 486 | 245 57 7.2 22 | 735 6 5 4 4 4 4 4 3 5 5
12 |25 R02.12.10 | 2 |BEE 5= |TF R05.06.29 | 30.6 A-4 507 | 255 56 8.0 25 | 734 7 5 4 4 4 4 4 3 5 5
13 [% R02.12.11 d |BEE#S 5= 'R R05.04.19 28.3 A-4 522 | 262 59 7.8 25 | 735 7 3 5 5 5 5 5 2 5 5
14 [R3 R02.12.12 | 2 |fEtz(E&) B2 |ZE165M9 R05.06.20 | 30.3 A-5 446 | 224 76 7.6 15 | 774 8 4 5 5 5 5 5 2 5 5
15 |[FELIFRY R02.12.16 | £ =03 = |fBzE R05.03.30 | 274 A-3 417 | 209 57 7.8 3.1 74.0 5 4 3 3 3 4 3 3 5 5
16 |FEXE723 R02.12.18 | & |EERE HRE |£% R05.02.02 25.5 A-5 550 | 275 64 8.8 16 | 753 10 4 5 5 5 5 5 2 5 5
17 |#k= R02.12.18 | & |[#%1E HER &% R05.05.18 | 29.0 A-5 471 | 236 71 8.3 2.1 76.4 12 4 5 5 5 5 5 3 5 5
18 ;%= R02.12.18 | & | = |XRER R05.05.18 29.0 A-4 452 | 228 49 75 1.8 | 735 6 3 4 4 4 4 4 3 5 5
19 |IF4A5< R02.1222 | 2 [&% HR [FEB R05.05.17 | 28.8 A-3 412 | 206 52 7.8 23 | 742 4 4 3 3 3 3 3 2 5 5
20 |&TEE2 R02.1223 | & |F@aRE BE |&RFE R05.04.06 | 27.4 A-5 481 | 242 73 75 1.7 | 76.3 9 4 5 5 5 5 5 3 5 5
21 [Co#n R02.12.28 | ¢ [EEHEE HER &% R05.03.30 | 27.0 A-5 437 | 216 74 75 1.7 | 7741 12 3 5 5 5 5 5 3 5 5
22 |hbi=A R02.1229 | @ |FEHEB 2 |[ERF R05.03.30 | 27.0 A-4 529 | 267 66 8.6 18 | 754 7 4 4 4 4 5 4 3 5 5
24 [fEETHEE R03.0105 | & |FZE EE |BEFE R05.04.05 | 27.0 A-5 518 | 259 62 9.2 19 | 754 9 3 5 5 5 5 5 3 5 5
25 |Ig7EH#1260 R03.01.06 2 |fEzE BE |RFE R05.06.12 29.2 A-4 404 | 203 60 7.4 22 | 75.1 6 4 4 4 4 4 4 2 5 5
26 | K#i21752 R03.01.13 | & |EXER = |[EEBRE R05.05.18 28.1 A-5 514 | 258 54 8.2 29 | 729 8 4 5 5 5 5 5 2 5 5
27 | K#i21743 R03.01.19 I |%; B|FEEE R05.06.05 28.5 A-5 455 | 228 64 7.6 22 | 75.1 10 4 5 5 5 5 5 3 5 5
28 |FiEx R03.01.20 | & |HEH HF BB R05.05.18 | 27.9 A-5 518 | 264 | 77 84 | 27 | 760 | 10 4 5 5 5 5 5 2 5 5
" 5[] =1
" e I [ BT | 5% e =19 BERA | s
Rk sy | Aes |WEER) A | TG0 AR NI pn | wie | Bus | Bos | BR | BE | Lay | 20 | Cxy | Brs | kiR |
4.5 2 = | @ | BES = FR | R p =]
i 26 28.3 gg5y | 4739 [2379] 637 [ 80 2.1 75.2 | 8.0 3.9 45 45 44 46 44 25 5.0 5.0
ZERE 1.2 e 46.7 | 238 | 98 0.6 0.5 1.6 24 0.5 0.6 0.6 0.7 0.6 0.7 0.5 0.0 0.0
3 16 28.1 93.8% | 4958 | 2489 653 | 8.2 2.1 753 | 84 3.9 46 46 46 47 46 2.4 5.0 5.0
9 10 28.6 80.0% | 4389|2202 612 | 7.7 23 | 750 | 7.3 40 42 42 42 44 42 2.7 5.0 5.0




%5 EH HR-331 H o & K &' € R E 4 Bk &
ATEER BB  Ei $EAH R4 Mk B B E B4 mif BaX
| 86.6 [ 25 6269 [d@iE] H30.07.22 | R 5 e HLY HLY

= B% E& E 2 P%E & =% i
= A % HEAR | 45 B s BAAR = BE | EEn| 02| 250 | BT | 53 mo |AR Bemy |8

&S el BER | gw | %Y | 38 |28 | @ | B |mwE|mem| OV | BOS | spp | AR | LEY | O | LE) | BFS |y pe | HRH
1 |DFH44 R02.11.11 ? |BEmb5 = |HAE R05.02.02 | 26.7 A-5 464 | 233 62 8.5 40 | 737 8 3 5 5 5 5 5 3 5 5
2 [ITATLWEpA2 | R0211.13 | @ |[EZEEE HR [BRE R05.05.23 30.3 A-5 431 214 60 8.3 33 | 744 12 3 5 5 5 5 5 2 5 5
3 |EZ1626 R02.11.17 | & [FEEBE BE |[BREL R05.01.12 25.9 B-5 438 | 219 49 8.2 39 | 723 8 3 5 5 5 5 5 3 5 5
4 |CIxB RO2.11.19 | @ |3 = |[ltE7/m8 R05.02.02 26.5 A-5 483 | 241 65 8.5 40 | 739 9 4 5 5 5 5 5 3 5 5
5 |ZF R02.11.20 | & |EZE BE |faX R05.03.16 | 27.8 A-5 428 | 216 61 6.4 32 | 734 8 3 5 5 5 5 5 2 5 5
6 |BfITE R02.1120 | & [EzH R |[ETE%(FEXEH) | R05.0330 | 283 A-4 514 | 257 60 8.8 26 | 743 7 3 5 5 5 5 5 2 5 5
7 | LY ELHA R02.1128 | & [EzH BE |RER R05.06.01 30.1 A-5 467 | 235 77 8.8 43 | 756 12 3 5 5 5 5 5 3 5 5
8 [S3FLEwS R02.1209 | @ [BAEE = A R05.05.30 | 29.7 A-5 506 | 255 67 7.8 27 | 745 8 4 5 5 5 5 5 2 5 5
9 |&E138142 R02.12.10 | @ |f&E1&H) 5= |TF R05.05.30 | 29.6 A-3 498 | 249 66 75 33 | 738 4 4 3 3 3 4 3 2 5 5
10 [dbE=H R02.12.12 | & |&Ek E |EARK R05.03.16 27.1 A-5 494 | 247 69 8.6 25 | 75.7 8 3 5 5 5 5 5 3 5 5
11 [#BR4F R02.12.15 I |ExEE S5 |dtFR R05.04.25 28.3 A-5 409 | 206 53 7.6 1.8 | 746 10 4 5 5 5 5 5 2 5 5
12 [IFEH&HL R02.12.18 L |BEFE E 'R R05.07.19 31.0 B-4 472 | 237 57 8.0 52 | 71.6 7 4 5 5 5 5 5 3 5 5
13 [FE R02.12.19 | EEESE AR 5% R05.03.02 26.4 A-4 537 | 270 62 8.9 36 | 734 7 3 5 5 4 5 4 3 5 5
14 |BLOERY R02.1225 | 2 [EFEHRE 22 |[REA R05.07.19 30.8 A-5 453 | 230 75 8.6 26 | 76.8 8 4 5 5 5 5 5 3 5 5
IHET R02.1225 | & |EZE BmE | TFXhE R05.05.17 | 28.7 A-5 516 | 258 72 8.3 26 | 755 9 3 5 5 5 5 5 2 5 5
16 |{AHD144 R02.12.27 | 2 [dFER HE [‘tE7m8 R05.05.30 | 29.1 A-3 487 | 245 58 85 35 | 734 4 3 4 4 4 4 4 2 5 5
17 |ZY R02.1228 | 2 |BzE EE |REA R05.06.29 | 30.0 A-5 550 | 276 64 95 39 | 737 9 3 5 5 5 5 5 3 5 5
18 |EEFE R03.01.01 Jd|EfCE e |EEEE R05.03.29 26.9 A-4 524 | 262 60 8.4 27 | 739 6 3 4 4 4 4 4 3 5 5
19 |HLY R03.01.07 | ¢ [dtFEZXR HERE |@Ek(EiE) R05.06.12 29.1 A-3 491 246 76 9.1 3.7 | 75.9 5 4 4 4 3 4 3 3 5 5
20 [JEEFI R03.01.07 | & |EE#H EE =053 R05.03.29 | 26.7 A-5 458 | 230 68 8.1 22 | 759 10 3 5 5 5 5 5 2 5 5
21 |25FEWL R03.01.09 | 2 [BET = |REERS) R05.02.14 | 25.2 A-4 335 | 167 46 7.1 24 | 738 9 5 4 4 5 5 5 3 5 5
22 |YH R03.0224 | @ |XZIES HF |k R05.08.03 | 29.3 A-5 558 | 281 81 8.8 35 | 75.7 9 3 5 5 5 5 5 2 5 5
" 510 RERA

" e T BT | &8 " =19 BERA | s

3% -5y L g |RESR) BA | "yt ARSI NI | pene | mse | gus | Bos | AR | B | Lxy | =0 |Cxy | Brs | iR | R

45$ ==} = ﬁ*ﬂ J;é = JIL'./R 4 B ﬁ

i 99 28.3 g6.4% | 477.9[239.7] 640 | 83 33 | 744 | 80 3.4 47 47 47 48 47 25 5.0 5.0

ZERE 1.7 e 510 | 257 | 8.9 0.7 0.8 1.3 2.1 0.6 0.6 0.6 0.6 04 0.6 0.5 0.0 0.0

3 8 275 100.0% | 485.0 | 2433 | 63.1 | 8.1 27 | 746 | 8.1 3.1 49 49 48 49 48 2.4 5.0 5.0

2 14 28.8 78.6% | 473.8 | 237.7| 645 | 84 36 | 742 | 80 3.6 46 46 46 48 46 2.6 5.0 5.0

Add



